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From the following details caleulate operating leverage, financial leverage and composite

leverage.

Sales Rs.50,00,000

Variable cost Rs.30,00,000

Fixed expenses Rs.10,00,000

12% Term loan Rs.500,000

Describe time value of money and why it should be considered in financial decision-making.
OR

The income statement of SF Ltd for the year ending on 31 March 2009 is presented

below. Except as stated, the cost-revenue relationship is expected to continue for

the next year also.

T R
Variable cost (Rs.) 15,000,000
Fixed Cost (Rs.} 1,000,000 16,000,000
Pretax Profits (Rs.) | 4,000,000 B
Taxes {Rs.) " 1,400,000
jl;‘;_f)“ after Tax 2,600,000
(i) Calculate BEP in units and amount of sales.

(i1} If fixed cost rises by Rs.500,000 for adding 60% to the present capacity calculate the
new break even point in units. '
(iif) What should be the number of units to be sold to maintain the same profit (Rs.26
lakh) after expansion.
(iv) If the plant operates at full capacity after expansion, what will be the net profit?
(v) What is the margin of safety at 75% of its expanded capacity utilization?
Explain the tools for project appraisal and how far they are appropriate for ditYerent
phases of business eycle.
OR '
A Ltd. and B. Ltd are identical firms except leveraging. The following data are available
about them, ‘

A Ltd B. Lid
Assts 500,000 500,000
E 1 D,
Debt capital {10%) 0 2.50,000
Equity capital (Rs.10 5.00,000 2.50.000
shares)
Rate of return on assets 20% : 20%
L I
Calculate :
(i) EPS for both assuming corporate tax rate to be 35%
(ii) Which firm will have more advantage if debt capital is raised to 60%
Define working capital and explain how it can be estimated for a manufacturing firm.
OR

Describe the various instruments of short-term finance and their relative merits and demerits.

* Nk



